C:# Dividing Whole Numbers

Name:
Solve each problem. Answers
1) 20:7 = 2) 4906 =
- 1
2.
3.
3) 40+2= 4) 213+7 = 4,
5.
6.
7.
5 979+8= 6) 48-7 =
8.
9.
10.
7) 06+2= 8 391+9=
- 11.
12.
9 B4+5= 10) 116+2=
11) 70+2= 12) 531+9=
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Dividing Whole Numbers

Name:

Answer Key

Solve each problem.

1) 20+7= 216

3 40+2= 20

5 979+8= 12213

7) 96+2= 48

9 54+5= 1014
11) 70:2= 35

2)

4)

6)

8)

10)

12)

490+6= 81r4d
213+7=_ 3013
48+7= 616
391+9= 4314
116+=2=__ 58
531+9=_ 59

Answers

1 216
> 8lr4
3. 20

a4 30r3
5, 12213
6. 616
7 48

8 4314
9. 10r4
10, 58
11. 35
12 99
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